
S
E

Z
IO

N
E

 A
 A

D
IV

IS
IO

N
E

 L
O

T
T

I

P
ro

g
e
tto

 s
u
l L

O
T

T
O

 B
 S

u
p
 1

4
9
4
.3

5
 C

e
 =

 6
4
7
.8

 m
q

7

P
3

 4
2

4
,6

8
 m

q

C
o
m

m
e
rc

ia
le

P
a
rc

h
e
g
g
i

P
3

 4
2

4
,6,6,6

8
 m

q
,6,6,6

C
o
m

m
e
rc

ia
le

4
5

6
,4

3
 m

q

4
5

6
,4

3
 m

q
 +

 1
9

1
,3

7
 m

q
 =

 6
4

7
,8

 m
q

 c
e

1
9

1
,3

7
 m

q

L
O

T
T

O
 B

1
4

9
4

.3
5

 m
q

S
2

S
2

N

10,00

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

stallo

automobile

Box posti auto189,62 mq + spazi di manovra  235.06 mq

=424.68 mq totali
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